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LO: Division of Decimals 

Korma Madras Vindaloo 

1) 14.8 ÷ 2 
2) 31.8 ÷ 6 
3) 25.55 ÷ 5 
4) 43.36 ÷ 8 
5) 26.64 ÷ 4 
6) 37.692 ÷ 4 

1) 34.256 ÷ 4 
2) 73.116 ÷ 6 
3) 81.207 ÷ 9 
4) 1232.378 ÷ 7 
5) 528.162 ÷ 3 
6) 3.14 ÷ 5 

1) 57.792 ÷ 7 
2) 360.162 ÷ 3 
3) 7070.049 ÷ 7 
4) 6913.578 ÷ 7 
5) 4.76 ÷ 8 
6) 112.75 ÷ 9 

 

7) Calculate 3.4 ÷ 7 

8) Eight gravy cubes weigh 60.8g.  What does one cube weigh? 

9) A back garden is three times the length of the front garden.  The back garden is 26.1m long.  

How long is the front garden? 

10) An oil drum holds 32.9 litres.  One seventh is used.  How much oil is left in the drum? 

Extension 

 

 

 


